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Dirty image ® 1% BX

Clean image M E A

*Change Rest Frequency
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MIRIAD>uvputhd vis=L1527_S02UH13CO hdvar=restfreq type=double varval=346.998347
out=L1527_S02UH13CO_L1f
>\rm -rf L1527_S02UH13CO
MIRIAD>uvputhd vis=L1527_S02UH13CO_L1f hdvar=restfreq type=double
varval=346.998347 out=L1527_S02UH13CO
MIRIAD>uvlist vis=L1527 _S02UH13CO options=spectra ## --> to check rest-freq
rest frequency : 346.99835
starting channel : 1
number of channels : 512
starting frequency : 346.91352
frequency interval : 0.00020
starting velocity : 55.893
ending velocity : -33.788
velocity interval : -0.175
>\rm -rf L1527_S02UH13CO_LA1f

*Subtract Continuum

#Decide the common continuum range!!
#SUBCONT

¥ #h:channel. #it#h:Amplitude D & 7R

MIRIAD>uvspec vis=L1527 _S02UH13CO line=channel,200,200,1,1 interval=600 device=/xw
;line=channel,200,200,1,1
;==>line=channel,nchan(F& =9 5 F v JL ), start(FR# D F ¥ 3 L), width(F v R JLIE),

step(F v+ JLEFR)
==>CDIEE . 200F v RILDBA00F Yo RILETHIFrRILT EITRTEINS,


https://sites.google.com/s/1U8JkWcy1Nd-zgLQfZfWGTRc-O6a-dwuy/p/1TR6YQv6oJ6qy3VS5r-g6zvDfisf3AtDJ/edit

H%h:channel #it & :Phase D & '~

MIRIAD>uvspec vis=L1527 S02UH13CO line=channel,200,200,1,1 interval=600
device=/xwaxis=channel,phase

L+ 5D FERRETline® HBchannelZEF , ZZ TIL200-350channel 2S5 AN HbEL T, Fhld
St Dchannell L EFR R DAHEL T, EFER P ZEZELSILK,

MIRIAD>uvlin vis=L1527_S02UH13CO chans=50,200,350,500
out=L1527_S02UH13CO_L1L order=1

:chans=start1, end1, start2, end2

:==>_C_TIZ. emission free®channel#§ €9 %,

:==>Z ZTl%. 50-200, 350-500channelZzemission free& L THEE L 1=,
CEFIER A ES N EREREER
MIRIAD>uvspec vis=L1527_S02UH13CO_L1L line=channel,400,20,1,1 interval=600
device=/xw

MIRIAD>uvspec vis=L1527 S02UH13CO_L1L line=channel,400,20,1,1 axis=channel,phase
interval=600 device=/xw

*Line IMAGING

Dirty image & beam® £, ZZ TDirty imaget°beam#Z K 3% B M. KEMHErms/ A4 X
LRILFBAIET D, (CLEANZATOIRIZE A )Beam/ A3 —2 % F v CleanZTL\RIZE D H =
YIZBOXEMT50 DB 2% DI(+5, T ALFHDDirty image & beam® E Femission® 5 >
TWSFroRILERDZT=6T XA DDirty image & beam#F {EfX 9%
#note options=systemp SHOULD BE USED!!!!
MIRIAD>invert vis=L1527_S02UH13CO map=L1527_S02UH13CO.m
beam=L1527 S02UH13CO.b imsize=512,512 cell=0.2,0.2 sup=0 line=channel,9,281,1,1
options=systemp,double

#line= linetype, nchan, start, width, step
**Dirty mapDrms®DBIE BIFEFEITLUT2iE5EH D,
MIRIAD>histo in=L1527_S02UH13 CO_rmsm nbin=20
region=abspix,box'(100,100,400,400)'

#regionl&emission free D 15 F

MIRIAD>imstat in=L1527_S02UH13CO_rmsm



LEED1FH DA Tdirty imageDrmsZAIFEL . cleanZz M T BE Dcutoff DL N JLERTET
%, TF 1L, cutoff OL N )L ILdirty mapDrmséRFBE THL T, 35PL. BEEZS5THNIL.
BEIKBLLNDLARNILETEET , CCTRIELIZMs /A XL ARJLIEAELTHS,

MIRIAD>cgdisp in=L1527_S02UH13CO.b type=contour slev=a,0.46
levs1=-5,-4,-3,-2,-1,1,2,3,4,5,6,7,8,9,9.99 labtyp=hms,dms device=/xw 3format=f6.3 nxy=1,1
olay=L1527IRS.st region=relpix,box'(-128,-128,128,128)'

MIRIAD>cgdisp in=L1527_S02UH13CO.m type=contour slev=a,0.38
levs1=2,3,4,5,6,7,8,10,12,14,16,18,20 labtyp=hms,dms device=/xw 3format=f6.3 nxy=3,3
olay=L1527IRS.st region=relpix,box'(-80,-80,80,80)(1,9)" options=full,3val csize=0,0.7,0,0

#& MchannellZlineBNZM>TNEDERN . EDFroRILICcleanZzh T H TR
%E . CleanZzh\ 15 LemissionH B X TEF=Y (2sigmal b L= o FzemissionHY3,4sigma<
5UMZAEo712Y). channel mapfPVEZE 5L 9 SR IZemission freedchanneltAXL LY
D T—HEMIZlineD Z o TLrvbchannel+Hi#2,3chiZxtL TcleanZ 75,

#Dirty image & Beam®D £

* E 22 TIRTE LTf=channel#i B Tdirty image & beamZ £k,
MIRIAD>invert vis=L1527_S02UH13CO map=L1527_S02UH13CO.m

beam=L1527 S02UH13CO.b imsize=512,512 cell=0.2,0.2 sup=0 line=channel,1,281,9,1
options=systemp,double

*{Ep L1=dirty beam% & '~

MIRIAD>cgdisp in=L1527_S02UH13CO.b type=contour slev=a,0.1
levs1=-5,-4,-3,-2,-1,1,2,3,4,5,6,7,8,9,9.99 labtyp=hms,dms device=/xw 3format=f6.3 nxy=1,1
olay=L1527IRS.st region=relpix,box'(-128,-128,128,128)'

=G, BEmsLAILEZEE
MIRIAD>imstat in=L1527_S02UH13CO.m # rms ~ 0.14 Jy beam-1

“*{E R L1=dirty imageZ & <
MIRIAD>cgdisp in=L1527_S02UH13CO.m type=contour slev=a,0.14

levs1=-2,2,3,4,5,6,7,8,10,12,14,16,18,20 labtyp=hms,dms device=/xw 3format=f6.3 nxy=1,1
olay=L1527IRS.st region=relpix,box'(-40,-40,40,40)' options=full,3val csize=0,0.7,0,0

*CLEAN

#CLEAN BOX very careful.....
**Clean boxz MM T AMEIHEIEET b,
MIRIAD>cgcurs in=L1527_S02UH13CO.m type=contour slev=a,0.14

levs=2,3,4,5,6,7,8,10,12,14,16,18,20 device=/xw options=3val,region nxy=1,1
region=relpix,box'(-80,-80,80,80)' olay=L1527IRS.st



cgursTIEE L= &5 Bl [Lregion 77 A L ICRTFESN S, ThldcgeursE RT3 5T LEEF
SNTLLD T, mVTYRALZLTELELLY,
>mv cgcurs.region cgeurs.region.h13co

**CleanM X 1T

MIRIAD>clean map=L1527_S02UH13CO.m beam=L1527_S02UH13CO.b
out=L1527_S02UH13CO.cl2 gain=0.1 niters=15000 cutoff=0.10
region=@cgcurs.region.h13co

MIRIAD>restor map=L1527_S02UH13CO.m beam=L1527_S02UH13CO.b
model=L1527_S02UH13CO.cl2 out=L1527_S02UH13CO.cm2

“*CleanB DA A—L DM EETF VY
MIRIAD>imstat in=L1527_S02UH13CO.cm2

*CleanfE DA A—TFETARTLAITRT

MIRIAD>cgdisp in=L1527_S02UH13CO.cm2 type=contour slev=a,0.137
levs1=-2,2,3,4,5,6,7,8,9,10,11,12,13,14,15 labtyp=hms,dms device=/xw 3format=f6.3
nxy=1,1 olay=L1527IRS.st region=relpix,box'(-60,-60,60,60)' options=full,3val
csize=0,0.7,0,0
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